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#include<cmath>
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#include <iostream>
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using namespace std; PIETEHO900 AIF751R - 900.0 2 sqart() &
int main()1 =518 - FRIR R I 30.00 -
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d R c1=140, d=20, f=40 # & :

prntf( "%.2f" ,sqrt(cl+d*f))
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#include <cmath>

. S|EAIEEEAFEOFRIAEEIE double © double B2 float BURIREEEPL - o] DUfE
A %lf(long float) #1815 E 558 L




Function Description Example

sgrt( x ) sqrt( 900.0 ) 1His 30.0
square root of x sart¢ 9.0) 3s'3.0

exp( x ) : ; X exp( 1.0 ) 1is 2.718282
exponential function €& expC 2.0 5 1s 7.389056

Tog( x ) : log( 2.718282 ) +is 1.0
1;;1tural logarithm of x (base 1o9¢ 7.389056 5 12 2.0

ToglO( x ) ; loglOC 1.0 ) 1dis 0.0
logarithm of x (base 10) 10910¢ 10.0°> 3s 1.0

Togl0(C 100.0 ) 4is 2.0

fabs( x ) fabs( 5.0 ) is 5.0

absolute value of x fabeC 003 12 070
fabs( -5.0 ) d4s 5.0

ceil( x ) ceil( 9.2 ) 4s 10.0
_rounds x to the smallest ceilC -9°8°y'3s “9.0
integer not less than x

floor( x D floor( 9.2 ) s 9.0
_roundsxto the largest Floor¢ 987y '3s ~10.0
integer not greater than x

pow( %X, y ) : o% pow( 2, 7 D) 1is 128.0
x raised to power y (") bowC o) 575'3s7500

fmod( x, v D : fmod( 13.657, 2.333 ) 1is
remainder of x/y as a 1997

floating point number

sinC x )

trigonometric sine of x
(x 1n radians)

sinC 0.0 ) 4is 0.0

cos( x )

trigonometric cosine of x
(x 1n radians)

cos( 0.0 ) 1s 1.0

tan( x )

trigonometric tangent of x
(x 1n radians)

tan( 0.0 ) 1s 0.0
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#include <iostream=>
#include <cmath>
using namespace std;

int main(){
double x,y;

cin>>Xx;
while(x!=0){
cin>>y;
cout<<(int)pow( X,y )<<endl; S AEE
IV =] 9 =V
return 0; =X y R73
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#include <iostream>
using namespace std;

int main(){
int x,y,;t,count:
cin>>x;
while(x!=0){
cin>>y;
t=1;
count=1;
while(count<=y){
t=t*x;
count=count+1;
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}
cout<<t<<endl;
cin>>Xx;

}

return 0;
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#include <iostream>
#include <cmath>

int main( ){
double x,y;
cin>>Xx;
while(x!=0){
cin>>y;

coutssfint)pewboyis<ens—— =B ARl | 44 B Hdoubleiint

. S nm
cin>s);

}

return 0;



